Do Now: #s 1 and 2
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5. Ifys (3+6x+ AT +9)'/%, find y'(4). (Hint: It's EASIEST to raise
both sides to the 5th power, then differentiate implicitly.)
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(Ei) -Given the curve y3 + 3x2y + 13 = 0,
a) Find & prduck rde
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. b) Write an equation for the 'Hne tangent to the curve at the point (2,-1).
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Given the curve x* - xy + y=9, _ d
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b) Find the coordinates of the points dpn the curve where the tangents are
vertical. ( glopt (Cundthned; the dtrommneor of é& =0)
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Homework 7
Homework 10-31

For 1-2, find Q @ R)(’r Ry % =0
dx d
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2. X’y+3x°—x=3
3. Find the slope of the tangent line to the curve x° + y* =1 at (L LJ and at (L —Lj
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